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Two aeroplanes converging at the same altitude. Who gives way ?

Blocked pitot tube. Which instruments fail. Selection given.

Vsl indicated on the ASI ?

Recreational pilot permit holder may fly . Number of passengers Number of seats VFR daytime
only within Canada.

Centre of pressure approaching a Stall. Where does it move.

Low octane fuel in a aircraft engine causes detonation.

Type of weather expected on lee side of mountain ridge.

Relative humidity.

What find of weather would you expect to find with the passing of a weak rldge of high pressure.
Would you attempt to take off with an approaching thunderstorm .

Radiation cooling causes ?

Given winds aloft at 3000 6000 9000 What was windspeed and direction at 7500’

From an area forecast
Ceiling at given airport at given time . Above ground level or above sea level. Almost at the end
of the forecast period.

When was the forecast valid. Starting time and for how long,.
When taking any Rx drug before flying wait 8, 24, 48 hours or not before consulting Doctor.

Weight and balance calculation using the Cessna Loading graph and Cessna C of G graph
some of the weights and some of the moments were missing. Calculate if over or under weight
combined with if the C of G was inside or outside of the envelope.

St . Thomas Bs
Cross country flight from To Barrie. Single leg.

Fuel required for the flight . Answers included exact amount only and exact amount plus 45
minute reserve.
G o’

Depart at time given, TAS 102kts, en route, on track and over a small town at abanglggg_;_l
railway track at given time. Calculate revised ETA Add 1 minute for each 1000’ of cruise
altitude.

K fchan er

En route you pass over an airport Control zone[ (1))3000' ] at 3500 do you need a clearance?

Arrival procedure at Barrie airport. Uncontrolled Airport without mandatory frequency.
CFS page given showed right hand circuit for runway 10. The active runway for your arrival .
NOTAM referring to work on the runway displacing the threshold by 1000' until ????Z.
Will you have the whole runway. Part of it. Runway closed or?

Landing approaching a DOWN SLOPING runway. High Low near or Far.
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Two aeroplanes converging at the same altitude. Who gives way ?
Blocked pitot tube. Which instruments fail. Selection given.

Vsl indicated on the ASI ?
Recreational pilot permit holder may fly . Number of passengers Number of seats VFR daytime

only within Canada.

Centre of pressure approaching a Stall. Where does it move.

Low octane fuel in a aircraft engine causes detonation.

Type of weather expected on lee side of mountain ridge.

Relative humidity.

What find of weather would you expect to find with the passing of a weak ridge of high pressure.
Would you attempt to take off with an approaching thunderstorm .

Radiation cooling causes ?

Given winds aloft at 3000 6000 9000 What was windspeed and direction at 7500

From an area forecast
Ceiling at given airport at given time . Above ground level or above sea level. Almost at the end

of the forecast period.
When was the forecast valid. Starting time and for how long.
When taking any Rx drug before flying wait 8, 24, 48 hours or not before consulting Doctor.

Weight and balance calculation using the Cessna Loading graph and Cessna C of G graph
some of the weights and some of the moments were missing. Calculate if over or under weight
combined with if the C of G was inside or outside of the envelope.

Cross country flight from To Barrie. Single leg.

Fuel required for the flight . Answers included exact amount only and exact amount plus 45
minute reserve.

Depart at time given, TAS 102kts, en route, on track and over a small town at abandoned
railway track at given time. Calculate revised ETA Add 1 minute for each 1000' of cruise

altitude.

En route you pass over an airport Control zone[ (ID)3000' ] at 3500 do you need a clearance?

Arrival procedure at Barrie airport. Uncontrolled Airport without mandatory frequency.
CFS page given showed right hand circuit for runway 10. The active runway for your arrival .
NOTAM referring to work on the runway displacing the threshold by 1000' until ????Z.
Will you have the whole runway. Part of it. Runway closed or?

Landing approaching a DOWN SLOPING runway. High Low near or Far.



If FSS gives you altimeter setting of 29.82. And the pilot inadvertently sets the altimeter at
28.82. Will the ALT read high 1000' or low 1000' or two other answers.

Your planes maximum crosswind capability is 12kts at 90 degrees
What is the maximum angle of a 20 kt wind and still be within the limit.

Except ultra-lights and balloons what documents are required to be carried on a Canadian
privately registered aircraft. In flight.

Special VFR minimums
Wake turbulence from?- large fast moving, only jets, aircraft and helicopters, and one other.

CYR can you fly through it ?



Two aeroplanes converging at the same altitude. Who gives way ?

Blocked pitot tube. Which instruments fail. Selection given.

Vsl indicated on the ASI ?

Recreational pilot permit holder may fly . Number of passengers Number of seats VFR daytime
only within Canada.

Centre of pressure approaching a Stall. Where does it move.

Low octane fuel in a aircraft engine causes detonation.

Type of weather expected on lee side of mountain ridge.

Relative humidity.

What find of weather would you expect to find with the passing of a weak ridge of high pressure.
Would you attempt to take off with an approaching thunderstorm .

Radiation cooling causes ?

Given winds aloft at 3000 6000 9000 What was windspeed and direction at 7500'

From an area forecast
Ceiling at given airport at given time . Above ground level or above sea level. Almost at the end
of the forecast period.

When was the forecast valid. Starting time and for how long.
When taking any Rx drug before flying wait 8, 24, 48 hours or not before consulting Doctor.

Weight and balance calculation using the Cessna Loading graph and Cessna C of G graph
some of the weights and some of the moments were missing, Calculate if over or under weight
combined with if the C of G was inside or outside of the envelope.

Cross country flight from To Barrie. Single leg.

Fuel required for the flight . Answers included exact amount only and exact amount plus 45
minute reserve.

Depart at time given, TAS 102kts, en route, on track and over a small town at abandoned
railway track at given time. Calculate revised ETA Add 1 minute for each 1000' of cruise
altitude.

En route you pass over an airport Control zone[ (D)3000' ] at 3500 do you need a clearance?
Arrival procedure at Barrie airport. Uncontrolled Airport without mandatory frequéncy.
CFS page given showed right hand circuit for runway 10. The active runway for your arrival .
NOTAM referring to work on the runway displacing the threshold by 1000' until ????Z.
Will you have the whole runway. Part of it. Runway closed or?

Landing approaching a DOWN SLOPING runway. High Low near or Far.
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2. Turning and Acceleration Errors. _On an accelerated turn to or from the north the
compass? lags from north, south, east, west. TP says, “on turns to or from the north
the compass lags behind the actual heading. Remember ANDS, accelerate = north
indications, decelerate= south indications.

3. Carb Icing. Under which conditions would the most serious carburetor icing be
expected? Choices include 4 temperature ranges and high or low humidity. TP
says, -5C to 15C, high humidity.

Note: It appeared that all the questions on general knowledge are covered in the practice
examine provided by the Langley Flving School.

NAVIGATION

Comments: This portion of test did not require a navigation log. However it is of value
to do one with the information they provide so that you do not miss something. An
example of this is where you have your track and are given the wind direction/speed and
TAS. The question simply asks what your compass heading will be? Unless you
document down info on the log you may fail to remember to add the magnetic variance (
add west”. The four choices also provide the heading which doesn’t include adjustment
for variance.

The navigation portion calls for a trip from Barrie airport to Hanover airport
for a stopover and then to London based at 4,500 feet. You are required to provide the
following answers:

1) The highest elevation based along the flight path.

2) Based on the Hypsometric tints chart. What is the range of elevation from
Hanover to London?

3) After departing from Barrie you are given the times 15:15 and 15:34 to go
from Middlegate to another small community. You are asked what your new
ETA will be to Hanover. Be careful not to just subtract the distance from
Barrie to the small community from the total distance but rather measure from
there to Hanover.

4) You are asked what class of airspace you fly in from Hanover to London.

5) You are given one double track question asking only how long you would fly
to be back on track. '

6) From Hanover to London you are off course and must calculate using the
closing angle method.

7) You are asked that on joining V342 what heading you would be on to fly to
the VOR at London airport and whether the OBS would read To or From.

8) There is one question on fuel consumption. Be careful to read the question.
You are required to stop in Hanover so you have to add the fuel for climb not
only at Barrie but again at Hanover. And don’t forget the 30 minutes fuel
required as well for daytime flight.

9) There is one weight and balance question using the charts to calculate
moment. Be careful it could be easy to miss the fuel. On the center of gravity



moment envelope. Be careful because the top line of the loaded aircraft
moment range only goes to 1650.

10) There is a cross wind question with runway 19. Cross wind at 080 and 25
knots. Can you land? Would you use runway 01 instead? Are would you not
land? You have to calculate out cross wind for both runways. Stall speed is
60 knots. , '

11) There is a question on takeoff distance at 4000 feet and 20C. Question
includes headwind 18 knots and grass runway. Be careful here to add the
extra percent to ground roll for both issues. For headwind have to increase %
for each 9 knots.

12) Be familiar with information from Canada Flight supplement for Hanover.
Does airport have FSS? Is customs available? What lighting? What circuit
procedure in affect?

13) There 1s a question on NOTAM. 1,000 feet of runway closed. You land at
180077 Will the runway be open or closed. Know how to read NOTAMS!

14) You have changed your ETA to Hanover what station would you contact to
notify?

FLIGHT OPERATIONS

1. You are descending into a Headwind, the angle of approach will
and the groundspeed will be . Answer steepen and reduced.

2. You have just taken off and experience wind gusts. Will you reduce power,
mcrease power, will power stay the same and what will happen to angle of
climb? Study low level wind shear!

3. What is the sequence required in an overshoot? Apply full power, accelerate
to a safe climb speed in level flight, reduce flap extension as required and
raise the nose to the climbing attitude.

4. You are flying at 4500 feet. What will be your wind direction and wind
speed? Need to interpolate from 3000 ft. and 6000 ft.

5. Question if the center of gravity is too far aft, will the aircraft be stable,
unstable, what about stall? Answer is the aircraft will be extremely unstable
when in slow flight and when approaching a stall.

6. Youare in a spin? At what point do you raise the flaps? First, after you have
leveled aircraft off, once recovered from dive?

7. Ground effect once above 18 feet what is effect and danger? As ground effect
stops the result is that an aircraft can become airborne quickly, but without
sufficient airspeed, and the aircraft is in danger of stalling.

8. Question on wake turbulence behind a heavy aircraft. When does wake
turbulence begin? At rotation, after rotation? Etc.

WEATHER
Comments: Know all three weather reports Area Forecast, Metar and TAF.

Questions on when report period is for as well as interpreting what the weather will be
like at certain time. Question on what freezing level will be at certain time.
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Intel File
Commercial Pilot License (Aeroplane)
Submitted: B. Orlowski

17/10/2002

Test Num: CPAER 016 01

Overview: Generally a difficult test there wasn’t a single question that was
straightforward often combining several different sections of knowledge in to one
question. If you just know your basics you’ll crash and burn. If you know your basics
well and have studied some of the more obscure rules, regulations, calculations, etc. then
you will do okay. They assume you have done great on your private pilot exam and
anything in relation to that exam is, either, not covered or is compounded by other
factors. Every new topic presented to you since vou started the commercial should be
studied with detail. Always read the question and each answer one word at a time.

TC Subjects for recommended study list given to me
(More specific details to questions in brackets):

-Calculate Load factor given bank (100kts stall in 60 deg. Bank now is...)

-VFR Fuel Requirements (including reserve in commercial ops)

-Laminar vs. conventional airfoils (Laminar is 50% of chord)

-Compare operation of a turn and bank indicator and a turn coordinator (yaw, roll, both?)
-METARSs (Know your codes)

-NOTAMs (Know your codes)

-TAFs (Know your codes, esp. weird ones)

-Rhumb Line (I know it sounds silly, but still know it)

-VSI inaccuracies (Lag etc when is it most accurate and least accurate)

-Passing through fronts (Back or Veer wind/inc or decr turbulence/ Immediately Changes
vs. Progressive)

-Fuel consumption and power graphs (Keep to 65% or 75% power selections forget 70%)
-Atmospheric Pressure levels and effects on Altimetry (temp, pressure, alt, etc/ higher or
lower. What about variations with respect to pressurized Aircraft and Failures)

-Alcohol exposure and long term effects. (Alcohol stays in? blood, brain, inner ear,
something else)

-Altitude affects lift/drag ratio (at altitude, Change Angle of attack, etc)

-Temperature effects on true vs. indicated altitudes. (High to low or Warm to cold look
out below)

-VOT testing (straight forward)

-Crew member requirements (There is a lot you must know, know it all. They use the
word ‘Commercial Air Service’ on the test. It’s there. Do you know what it is?)

-CRFT index (yes it is on a scale from 0-1, but you also need to use this number on the
chart to determine other things such as X-wind. One of those best answer questions)

- GPS how does it work (GPS satellites use? Orientation or distance or both to find
position)

- Privileges of Commercial Pilots (There’s lots to know)



-Wind, TAS, and GS calculations.

-Carbon Monoxide (Some options in question Feelings of well being? Is small exposure
okay? )

-ADF Track interception (Complicated, fixed card ADF questions including determining
your track and intercepting tracks at non-standard angles from as little as 5° off)
-Interpret VOR indications relative to an airway (You are not currently on)

-Flight crew qualifications required for ‘Commercial Air Services’ (Yes that word again)
-VFR flight plan filling and filling out (How do you indicate stoppages?)

-Standard VFR transponder codes (1200 VFR below 12 500°ASL, 1400 above)

-Falling Rain and Humidity (Funny, because the question was alluding to turbulence not
low level fog, mist and bad vis)

-Serviceability of NDB (This was a private NDB that was giving a strong signal but
which you could not receive an audible ID signal the NDB’s ID was D9 what do you do?
Use? y/n why)

-Warm Unstable Air and weather conditions associated with it.

-Weather changes around frontal passage (Cold front over warm ground)

Other tips:
-Make sure you know the difference between Flight duty time, Stand-by, and Flight time.
-Make sure you know the Max flight times in a given time period. (1200hrs per 365 days)
-VFR-OTT and other minimum equipment requirements
-Landing or taking off on water? Equipment needed. Life jackets? Raft? Water ELT?
-Map work but look at more advanced stuff ie VGF
-DME, VOR, TACAN. UHF or VHF?
-DME limitations. Can you use for GS and when?
-With regard to flying altitudes over 3000’ it’s AGL and magnetic track. Try get used to
the idea of using AGL or ASL when referring to any altitude in your studies. For
example: Class ‘B’ airspace generally starts at 12 500" ASL...
- Go over the SIGMET weather codes. Note that some are combined to better define
types of precipitation. Small triangle V¥ (Actually with a clear centre) with a “*’ above it
would be Snow, for example.
-The GFA questions were trying to be tricky, pay attention to the time Issued vs. the
Validity period. Basically came down to reading the question and answer carefully.
-Remember CB, TCUs and ACCs imply significant turbulence and icing. Heights are
ASL unless otherwise noted. And CBs imply Low Level Wind Shear.
-Always try to double check answers after you finish. The average person fails by ONLY
one or two questions in a particular section. I personally had the worst score on the
section I felt best about and therefore did not bother to check.



Commercial Exam September 20,1999

The following is a summary of questions and scenarios as remembered from this exam

Air Law

Cruising altitudes in the Southern Domestic airspace start at and are base on

3000 AGL, true track
3000AGL, magnetic track
3000ASL, magnetic heading
3000ASL, magnetic track

O 0 0 0

For entry into the ADIZ the following is true
o A flight plan is not required if the cruising speed is below 180 kts.
o ATC must be notified if you are more than 5 nm off track
o A clearance is required before entering the ADIZ
o A 2way radio is required for flights into the ADIZ

A flashing red light signal means, to aircraft in the air and on the
ground
o (selfexlanatory)

Your aircraft’s ELT is u/s and you don’t have a MEL, you
o Cannot fly
o Can fly if the ELT is temporarily not available e.g. removed for
maintenance
o Can only fly within 25nm from departure point
c ?

Emergency training has to be provided to crew by an operator every
o 3 months
o 6 months
o 12 months
o 24 months

What is the maximum altitude for a flight without oxygen on board?
10,000 #t

13,000 ft

20,000t

l’

o 0 00

What would be used as proof of airworthiness for importing an aircraft?

Special purpose certificate
Special purpose permit
Standard CofA

'

0 0 0 0



General Knowledge

This part refers back to above scenario.

One simple weight and balance scenario is given, no complications, and at the alternate
destination you have to recalculate after picking up another passenger and after
calculating your fuel burn to that point (you are given straight forward information “... 13
GPH for cruise + 3gal for taxi/climb...”, don’t forget your VFR reserve on the initial
calculation). After recalculation you find your T.0. weight okay but your c.g. out ; no
corrections required.

Other questions:

o Results of oil pressure loss on counterbalanced constant speed prop
o Course pitch
o Fine pitch
o Feathering
o 7?7

o 3 different questions regarding angle of attack, relationship to speed, load, icing

o What is the working principle of a directional gyro?
o Rigidity in space

Gyroscopic stability

Precession

9

c o 0O

o Totally blocked pitot system results in
o Overreading in climbs, underreading in descents
o Underreading in climbs, overreading in descents
o Noindication
o ?

Considerations for startup after oil dilution

In general the test exams from LFS (including Dave’s infamous final exam) have been
excellent training aids. In addition to Dave’s “Commercial Pilot” Textbook you should
prepare for weather charts and symbols, otherwise it’s quite complete.

The final exam in Culhane’s “Commercial Pilot” — Text Book as well as the 6 exams in
Culhane’s “Written Test Book” have been a great help and | didn’t find any questions in
the T.C. exam that were not addressed in principle in those test exams.

The actual T.C. exam seemed to be easier than the test exams because questions didn’t
seem to be so much “in depth” and caiculation were kept fairly simple and
straightforward.

(if someone likes to borrow my Culhane, please let me know - Peter Schiieck. 594-8450)
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11
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20
21
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23
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25
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28

29

30

Test Question Examples W/} UC/ W P (/} ‘

Double track methed with wind correction angle.

NOTAM - when is it no longer valid? = —
Ues

C.SF. - Radius circle/group correct statements.

ADF - Using VOR airways as BTS and using runways as BTS, finding RB. f‘//’
, : G R | ]
VOR - Set OBS to what heading when tracking ragho. %J ?q( F)@ = g Hw{ser,/r p\ \_,/

OBS moves to the left while tracking, what direction and wind correction is needed?

Suns true bearing chart. O(/jé,

A
Weather radar is primary or secondary? ; /}/ f\'

Loran - what does not affect performance? C/ ) (/ (/ \// ((_/

RMI - capable of what? g} M
i
VTA symbols for VOR, DME, military and civil. @ 6/%

DME is least accurate when?

Transponder receives altitude information from where?

LO and WAC, GS, ETA, Distance and fuel consumption.

Climb fpm.

On an airway, using another station’s VOR to locate position prior to reaching radial, the OBS would read?
Dead reckoning is? (PE ik )

FSS heavy box with frequency given, which other frequency can you use?

A straight line drawn on a WAC chart is?

Which charts are Lambert Conformal Conic, WAC, VTA, Artic projection, all of the above.
Triangles of velocities are? (grouping question)

Cruising altitudes.

Pilot licensing requirements.

Flight times limitations in 365 days.

Aircraft icing - legal to fly or not?

Air taxi w/ passengers 50 nauﬂcc;l miles over water - what survival equipment is necessary?
When must an ELT be carried on board? ‘

SALR and DALR guestion.

Formation of clouds, formation of fog,

Cold front development.



31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47

Warm front in winter time, what is expected?

FA's, FD's, metars - decode.

Prognostic surface charts.

Carbuerator icing is caused by? At what temperature?
Fuel injection icing - is there an alternate air source?
Moving of the C of G.

C of G - how does it affect performance?

Variable pitch propellers, loss of oil.

PITOT blockage will affect AST - in what way?

How will ASI operate in freezing temperatures?
Turn bank indicator in a corner, slipping or skidding.
Windshear - how will it affect ground speed?
Performance speeds - VLO.

Take off chart, cross wind chart.

Weight and balance, € of G limits, moment and locating C of &.

Affects of icing on a plane during take off or climb.

Orientation in a white out,
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COMMERCIAL PILOT EXAM QUESTIONS

1) WHAT IS RMI IS RECEIVED ON ?
A)ADF VOR

B) DME VOR

C)VORTAC ADF

2) LORAN C IS NOT ADVERSELY EFFECTED BY ?
A) POWER LINES

B) RADIO SIGNALS
C) PRECIPITATION AND TERRAIN
D) CURVATURE OF THE EARTH )L

3) COUNTER WEIGHT PROPELLER WILL --------- WITH LOSS OF OIL PRESSURE ?
A) GO TO FULL FINE

B) GO TO COARSE PITCH THEN FEATHER

4) IF THE PITOT SYSTEM IS BLOCKED, WHAT WILL THE ASI INDICATE ?
A) OVER READ IN CLIMB UNDER READ IN A DESCENT

5) WHAT DOES MODE C TRANSPONDER USE ?
A) PRESSURE SENSITIVE ALTIMETER

B) ENCODING ALTIMETER

C) ALTIMETER

6) WHAT IS THE BASIC OPERATION OF A GYROSCOPE / HEADING INDICATOR
BASED ON?

A) PRECESSION
B) INERTIA
C) RIGIDITY

7) UPDRAFT TURBULENCE AFFECTS THE AIRFRAME BY ?
INCREASING STALL SPEED
DECREASING STALL SPEED

8) WHITEOUT IS'MOST PREVALENT WHEN ?
A) SNOWING

B) SNOW COVERED GROUND AND LOW CLOUD COVER



9) NOTAM EXAMPLE WAS GIVEN, TWO WERE THE SAME BUT HAD DIFFERENT
END DATES. WHEN WAS NOTAM CANCELLED ?
A) SPECIAL NOTAM ISSUED
B) AUTOMATICALLY

10) CARB ICE IS MOST PREVALENT IN NON FUEL INJECTED AIRCRAFT BECAUSE ?

A) ICE FORMS IN CARBURETOR THROAT V
B) THROTTLE VALVE IS CLOSE TO FRONT OF CARBURETOR

11) USE OF LOWER OCTANE FUEL WILL CAUSE ?
A) INCREASE HORSEPOWER
B) DETONATION
C) PRE IGNITION

12) WHY ARE COUNTER BALANCES USED ON FLIGHT CONTROLS ? -

13) A STRAIGHT LINE DRAWN ON A MAP MOST REPRESENTS A?

14) WHY DOES THE STALL SPEED INCREASE IN A TURN ?

15) WHAT TWO FACTORS ARE NEEDED TO FIND THE TRIANGLE OF VELOCITIES ?

16) WEIGHT AND BALANCE QUESTION.
WEIGHTS WERE GIVEN. FIND ARM IN CHARTS AND MULTIPLY MOMENTS
X 100.
FIND AIRCRAFT COF G ?
THEN FLY 2.4 HRS BURNING 12.4 GPH PLUS 15 GPH FOR 20 MIN CLIMB.
PICK UP 1 PAS 140 LBS IN BACK SEAT. IS AIRCRAFT OVER WEIGHT?
IS AIRCRAFT WITHIN C OF G ? (SEE CHART)

17) WING SLOTS ON AIRCRAFT ARE FOR ?

18) AFTER OIL DILUTION IS PERFORMED, AIR CRAFT MUST BE PROPERLY
WARMED UP TO PREVENT ?

19) AS AN AIRCRAFT CLIMBS, IF FUEL MIXTURE IS NOT ADJUSTED.
WHAT WILL HAPPEN?
A) FUEL VOLUME TO AIR VOLUME INCREASE
B) FUEL WEIGHT TO AIR WEIGHT WILL INCREASE



20) WING TIP VORTICES WILL MOST LIKELY BE PREVALENT ?
A) SLIGHT CROSS WIND LEAVING DOWNWIND VORTICES ON RUNWAY
B) SLIGHT CROSS WIND LEAVING UPWIND VORTICES ON RUNWAY

21) WITH WIND SHEAR, YOU WILL MOST ALWAYS ENCOUNTER ?
A) DECREASE IN GROUND SPEED THEN INCREASE IN GROUND SPEED

22) IF AN AIRCRAFT IS LOADED AFT HEAVY, WHAT IS AFFECTED ?
A) LATERAL STABILITY
B )VERTICAL STABILITY
C) LONGITUDINAL STABILITY
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www.tc.gc.calcivilaviation/general/exams/menu.htm 5802 - 508711

Examination questions which are related to the following were answered incorrectly.

- Calculate weight and balance.

- Choose the most useful weather information when planning a cross-country flight.
- Decode a TAF.

- Define terms used to describe sky conditions.

- Define warm front.

- Explain the effect of wind on gliding distance.

- Explain the effect of wing flaps.

- Explain the factors that affect the angle of attack at which an airfoil stalls.
- Explain the relationship between TAS and IAS.

- Explain the relationship between trim control position and trim tab position.
- Extract aeronautical information from navigation charts.

- Interpret and track GPS.

- Interpret the CFS.

& ‘Interpret VFR Navigation Chart symbols and information.

- Recall illusions created by various runway sizes.

- Recall the difference between altimeter setting and MSL pressure.

- Recall the regulatory requirements for a recurrent training program.

- Recall the regulatory requirements for elementary maintenance.

- Recall the requirements to carry passengers at night.

- Recall the symptoms of a spin.

- Recall the trans-border requirements for flight plans.

- Recall when to use a VTA.

- Recognize the conditions conducive to caburettor icing.

- Recognize the effects and hazards of a malfunctioning ignition switch.

- State the regulation regarding the dropping of objects from aircraft in flight.
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Examination questions which are related to the following were answered incorrectly.

www.tc.gc.ca/civilaviation/general/exams/menu.htm 5802

- Apply right-of-way rules.

. Calculate ground speed.

- Calculate relative bearing.

. Choose useable radio frequencies.

- Decode a NOTAM.

- Decode a TAF.

. Describe the change in wind from the surface to clear of the boundary layer.
. Describe the characteristics of HF radio.

. Describe the information available from a VORTAC station.

- Describe the movement of air in pressure systems.

- Describe the weather associated with an upper front.

. Determine true track using navigation charts.

. Estimate flight time.

- Explain the advantages and disadvantages of fuel injection.

. Explain the effect of a vertical gust on stall speed.

- Explain the effects of frozen contaminants on lift and drag.

. Explain the effects of topography on wind.

- Explain the hazards associated with virga.

- Explain the hazards of wind shear.

. Explain what happens to the C of P during a stall.

- Explain why fuel/air mixture adjustments are necessary.

« Explain why TAS and IAS differ.

- Identify clas's of airspace.

- ldentify cloud forming processes.

- ldentify possible causes of high engine oil temperature.

- Identify the cause of low level wind shear near thunderstorms.
- Interpret a GFA.

- Predict the reliability of a magnetic compass during a climb.

- Recall the regulatory requirements for starting and ground running of aircraft engines.
- Recall the requirements toe carry dangerous goods.

- Recall the restrictions regarding alcohol or drug use.

- Recall the rules that apply to a Class C control zone.

- Recall the rules that apply to the Class F airspace.

- State the rule regarding dropping objects from aircraft in flight.
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